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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-111 Examination, 2019

PHILOSOPHY

PAPER-PHIA-VIII

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. efifese ST 0 A 2SI 07 FH 1
Candidates should answer in their own words AT TS G T2 ST TG T
and adhere to the word limit as practicable. e A

GROUP-A

(Full Marks-50)
et-5
(sfeta-co)
Answer any one Optional Paper
@-FTA 9F 6 afoes taq Tea wie
(Vedantasara | (AuSAIR)

Answer Question No. 1 and any two from the rest within 600 words each
S M e @ T (F-CHIC 415 @vd Ted @feb voo *Itard W wie
1. Answer any four questions from the following within 150 words each: 5x4 =20
TS @-IE! 5135 2eiF Ted &folb Seo =@ g nies
(@) What is meant by ‘Tatparya’?
Sl FET0e (@I 9
(b) What are individual ignorance and collective ignorance?
& oI @ (B Seelw FIE I 9
(c) Explain the definition of ‘Adhikari’.
SRR FrReil I S
(d) What is Indriyatmavada?
PERIFNIEEIR
(e) Distinguish between Susupti and Nirvikalpaka Samadhi.
e @k [Rees sifaa s o
(f) Why is the text ‘Vedantasara’ called ‘prakarana grantha’?
‘AR QB0 ‘@l &% 6Tl 7 (e 9
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(9) How are the five great elements (Paficamahabhiita) produced?

LT CO PO Beoi 27 9

(h) What is ‘Upasana’? What is the necessity of ‘Upasana’?

TR FIE A6 2 SHAPIG 2N 9

Explain how the statement ‘Tattvamasi’ leads to the awareness that Jivatman and
Brahman are identical.

“TGNRT I (AF T 8 JCHF TSV FISI( BT T © I FC! |

Show the Sruti, Anubhuti and Jukti in connection with the view that ‘Manas’ is
identical with Atma.

TIE TG — @2 TSN 21T %6, Sl ¢ I eweq Tl |

Explain fully the Svartipalaksana and Tatasthalaksana of Brahman following the
Magalacarana of ‘Vedantasara’.

@IS A BB CAIRINCR O FA=IeTwel 8 WoEeT=el 0w 7l |

Distinguish between literal meaning and intended meaning. Explain and
illustrate in this connection the three varieties of intended meaning.

e @ FTCed Wo AN T Tt 92 e foaeiR o Tride HRCRIe vt
A |

(Ryle / qig=)
Answer Question No. 1 and any two from the rest within 600 words each
SR & @ TR (I-(FIA! 715 TR Ted &fofb voo *tara oy wie

Answer any four questions from the following within 150 words each:
RS @-IE! 51af7 aew Ted &ifefb seo =it Sy niss

(@) What is mind-body interactionism? Discuss briefly.

MR TR F 9 FREFC A FE

(b) Distinguish between voluntary and involuntary actions after Ryle.

A SePprael IR o @ SiteIfves e Ty #M1dey e |

(c) Explain after Ryle the nature of consciousness.

BT S TP FCH (GO Tkl G S |

(d) Give one criticism of the ‘Dogma of the ghost in the machine’, according to

Ryle.
LSS Pl P A(F NGB GO’ — (G G0 FACETDA THZH A |

(e) What, according to Ryle, is the concept of volition?
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(F) Is intelligence a kind of ‘knowing how’ or ‘knowing that’?

e & @3 e W e 71 & A @i 9

() What does Ryle mean by ‘intellectualist legend’?

AZe (s TP IS F A=A 2

(h) What is the difference between the dispositional terms and the occurrent terms?

no

w

1.

‘@gerel TNEImIRl %19 R SO * R W 2N o

What is ‘category mistake’? Critically discuss after Ryle in what respect the 5+10
official doctrine involves ‘category mistake’.

‘RO FIE IET 9 (2-NCR FHED CFGT 2o Toqm Frerd @i i
SIS 2, AIBF-(P SRl B ARG S S|

What is dispositional statement? In this regard, explain the single track 5+10
disposition and multi-track disposition.

2ROPIHT SR FICF 0T 9 @ 2P ISR efFerel @R IZIAN @6l iy FC |

How can the concept of volition be explained without admitting a mental 15
substance?

FOTE) FFE 71l FES eiFfex 17 SIS it F1 A7 9

Discuss critically Ryle’s notion of ‘retrospection’ in relation to self-knowledge. 15

wiel-eR|e AR ABET ORI’ Sedwis HREIE SNEe S |

(Logic / St

Answer Question No. 1 and any two more from Section-1 and Section-11
taking one from each section

SR & IRMTF, ARTle 48> 9RR A8-3 (ATF E-FIE 936 F0d e =it 7fo
oTHd Teq wie

Answer any four questions from the following: 5x4 =20

e @-ceet 51Efle 2t Teg wies

(@) ‘There is a close relationship between saying that something has a property and

saying that it belongs to a class’. — Explain.

‘@I TS ST S W @R TB0 ST @A 7o) — @2 A 4o ey 7oy o
TICR — I AT |

(b) Explain the difference between the relation of identity and the relation of

3089
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(c) Are the following assumptions mutually consistent? Prove with the help of Venn

diagram.

foeoa et 6 sraifen) ¢ cemforam sac @wel e
BNC=A
(AnC)~B=A
(ANB)~C=A
(ANB)U(ANC)U(BNC)=A

(d) Determine the relation between Philosophical Logic and Mathematical Logic.
wiffas e e aififes gfeRmm Swg e i s

(e) Explain the relation of reflexive-irreflexive and non-reflexive with example and
symbolic definition.

ARCFTOF T @ TUIRFE! AN FTITF F-SPTFEP QR A-TFTHS 799 1A TR |
(f) Explain the principle of Extensionality for sets.
@A TR ABIRTOR T A I |
(9) What is wrong with the following argument?
Socrates is a man. Men are numerous. Therefore, Socrates is numerous.
ke e a9
PN GFE e | AT PR | F[OAR HCHHH TRy |
(h) What is “Binary Relation”? Explain with an example.
“Taviel TFH” FICS 1 2 G0 SWIZACCT AR I S|

SECTION-I / 4&-5

2. (a) Translate the following sentences using set theoretic notation:
flerie arefs GolkEE" AR T T
(i) Poets are fond of flowers and birds.

SR e @ 2R SR |
(i) Dog is carnivorous.
T4 2eT WA |
(iii) Tyrants are mortal.
TGl SR |

(b) Give the symbolic definitions of set-intersection and set-union.
@-intersection ¥R GG-union ¥ AR e 7€ |
(c) Find the value of the following:

facare e &7 ool s
() {AI{A} (i) {A{A} ~ {AY
(iii) A N {A} (iv) {A{A} ~A

3089



B.A./Part-111/Hons./PHIA-VI111/2019
(d) Which of the following statements are true for all sets A, B and C?
A, B @3 C (6 @31 (3G9 fsfeiiie amefer @it ey ¢
(i) fTAeBandBcCthenAcC
IMA cBIRBcCINOREACC

(i) fFAgBandB ¢ C,then A ¢ C
AMA ¢ BORB ¢ CWORTA ¢ C

3. (a) Test the following arguments by Venn diagram:
CoAbCTe AR &< (el Kb S
All liars are prejudiced.
Some witnesses are not liars.
.. Some witnesses are not prejudiced.
Fpe] (SRR FIARIRIRS |
fog B! faa =/
- T = RIS |

(b) Test by Venn diagram whether the following propositions are consistent or not:

ceAibcas MR FHeate Al wraifesd el orares

BNC=A
(AnC)~B=A
(AnB)~C=A

ANnB)UANC)uUBNC) A

(c) Classify the relation of being the same height in the set of all persons according
to the properties they do or don’t have. (eg. Reflexive, symmetric, transitive,

antisymmetric etc.)

e NAA (IO (GG TR IS 4 (T o7, AN, R, [y

2oyl 1)
(d) Are the following assumptions mutually consistent?

Tl Rgoefer & okrsicas s e o

Some Americans are virtuous.
No virtuous people steal from the poor.
Some Americans steal from the poor.

IR I SRR i |
I AifSi e s &= pfk w01
I I SRR wfdcas 4o pf )
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SECTION-I1/ 9&-3

4. (a) Use truth-tree method to determine the validity of the following: 3
TP #afore A (el el et |
(X) (Fx vGxX)—[ (x) Fxv (x) GX]
(b) Test the following arguments for validity by truth tree method: 4+4

oI “lafed AR Feare Ffewfm tagel Ko s

(i) Alma does not love all her lovers. Alma has a lover whom she does not
love.

ST O T (2NFE SIETRIET | ToqR ST @6 (@i Sz A GF

ORI <M
(i)  (3x) Px

() (Px—Qx)

(3x) Qx
(c) Determine the validity of the following statement by Truth-tree method. 4

eI ~iod AR NCoa AF6H (F4l el e
If a relation is symmetrical and transitive, then it is reflexive.
7 (PICET 7 IR IR TR 22 O i FHFHS 2T |

S. Explain critically, C.1. Lewis’s theory of entailment. 15
epifeeg T C. 1. Lewis 97 ©F TGN P FCE |

(Practical Vedanta / I32&F @@ie)

Answer Question No. 1 and any two from the rest within 600 words each
S R & 8 WA (F-(HICA! 76 &Are Tew @ifefb voo *tara WKy e

1. Answer any four questions from the following within 150 words each: 5x4 =20

feafere @-ie b1afe 2itaa Tes elfofb seo =it ey nies

(@) What are the sources of power of great man? — Explain.
TRI7ER *Ife B F F 9 A IR

(b) What is the significance of Dvaitavada in Advaita Vedanta?
S WA (AR BTG F 9

(c) What is the necessity of self-confidence as an ideal?
S RO ST Safrret § 9

(d) How is the concept of self-sacrifice derived from the nature of man?
IR &P (AP SRR el 76 ©Iea 8357 200z ¢

(e) What is the real nature of man? Explain after practical Vedanta.

W0 Fhl F ¢ AT (@7 Sepaice] G 1
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(f) What is I$vara according to Vedanta? Discuss briefly after Vivekananda.

@IS SR 587 9 RIS Seiael S FREFHC PN P |

(9) How is universal religion established in Practical Vedanta?

QWi wEre F S AdEa o alfeide =7 9

(h) Explain the notion of ‘morality’ after Vedanta Tattva.

AT S0l S CAfoFela QizefG i wea |

Explain in detail how one can construct and lead his life, in the light of ‘Practical
Vedanta’.

2EF @IS WA SIS FOIE SR €@ Gwsion F1 784, ©f ReifieweiE
CeTCRMN

How will Practical Vedanta bring about the well-being of a society? Discuss
after Swami Vivekananda.

FARITE ([T FTOICI ANCSH 70T FeNepe 2(F, ©f RIH TS So71el T SNl
BI&Il

What is the justification for accepting ‘Nirguna’ instead of ‘Saguna’ ISwara in
the Vedantic mind of Vivekananda?

R g @rieber [FoiE Aed FriEd Aics ‘e FeEa el
AR 9

Distinguish between Atmavada and Nairatmavada. Are they reconcilable in
Advaita Vedanta?

TRV € (IANRITE W& AL T BFe @IcE [ Tox Nood W& FNIY Al
TGS 9

(Communist Manifesto / Fe % ifawes))
Answer Question No. 1 and any two from the rest within 600 words each

SR @l 8 TR (- 71T &ATad Ted elfeib Yoo =twa Wy wie

Answer any four questions from the following within 150 words each:
RS @-IE! 51af7 aeiw Ted &ifefb seo =it ey niss

(@) What is meant by class conflictless society?

@B AN IO I @RI ZRCR 2

(b) What is meant by ‘Forces of production’?

“Teoive *ife” I0e ¢ @RI 9

(c) Elucidate the main difference between Utopian socialism and scientific

3089
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(d) What, according to Mar, is materialist conception of history?

SRR IR AN IS WA IR 9

(e) What is meant by ‘Primitive Communism’?
I AW TS F QIR 2

(F) Explain dictatorship of the proletariat after Marx.
AP PR T IR GFATT0F PV |

(g) What is the main factor for social change? — Explain.

G AARRSCT &1 FIReG 5 9 — Iy

2. What is class struggle? Explain the different stages of class-struggle in human
history.

@ AN FIF 0T 9 WK 2o [fen darea @ e i FeE

3. What is the significance of the slogan — “Working men of all countries unite”?
What, according to Marx, is the international task of the class today?

‘YRR e @F 287 — G2 @ O F 9 WFH-GF WO IS T HfE @A
T oF FO) F 9

4. Explain the origin and nature of family, according to Marx and Engels.
AR € AT TP 03 ARINEE T @ 2Ffo 3071 T |

5. What does Marx mean by Feudalistic socialism? How does he criticize this
doctrine?

ANTOIEF TTrod E1Ce NH 1 JRICCR 2 92 ol o eI ANET FEC 9

(Dharma : Rabindranath Tagore / 4% : Fi@=e 51F3)

Answer Question No. 1 and any two from the rest within 600 words each
SR @l 8 TR (I-(FIA! 71T &ATad Ted elfeib Yoo =twa Ty wie

1. Answer any four questions from the following within 150 words each:
faafere @-iel o1afo 2ivsa Tes elfofb seo =it ey nies

(@) What is the way to overcome sufferings recommended by Rabindranath Tagore
in his essay “Prachin Bharater Ekah”?

T2 A(E SO TR (T 2L T I IFF O “@Able Slces @3> 20
s 2

(b) “Nayamatma balahinena labhya”— EXxplain the significance of this Upanisadic
statement.

TR FETRICed o7y’ a3 i I o wieoid Iy S
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(c) Explain the significance of the story of three boons following the essay
“Prarthana”.

“SIAP 2T ST foeb IR R Sl i IR

(d) Why is Utsava called ‘power of carnival’? — Explain following Tagore’s essay
“Utsaver Din”.
ToRE e *feq TOR @ 2R 2 FNGA IIFEF TN A o7 Sepred
BINIEISIN

(e) Why does Rabindranath Tagore call the world as imperfect instead of nothing?
Explain following his essay “Dukha”.
@ AN T Tl F S IR, X I P O G2 27 PR I
BINIEISIN

() State briefly Rabindranath Tagore’s’ view on individualism following his essay
“Tatah Kim”.
& FoTIM TH(F TG IFE IS O 008 F1 e P T FREHCH
T Tl

(g) According to Rabindranath Tagore, what is the great ideal upon which all our
festivals are grounded? — Explain after Tagore’s essay “Utsaver Din”.
AT IFER S @ T2 O T AW 78 TR 2lfefe 9 7w
OIFCEA T e 2% SIpTace! 1 S|

(h) How does Rabindranath Tagore explain the Four Asramas?

AT ST FEINCE TSI IR ST 9

How does Rabindranath Tagore explain the order among diversity? Explain after
his essay “Prachin Bharate Ekah”.

ADTarR WK Wl AN IFF TSI A IR0 9 O “2ibl orre «Fs”
&7 &R AN Il

“Flowerness is easy for flowers but humanity is not so easy for human being”.
Explain the significance of this view of Tagore following his essay
“Manusyatva”.

SR AT PG TS T, TR 2I0F TG O HLG 2 — NG IIFER 3
IE0F Ol OfF “TJrg” &% SPrRe I I FCE! |

What, according to Rabindranath Tagore, is our genuine prayer? Why, according
to him, the so called patriot might be a positive hindrance to humanity? Explain
following Rabindranath Tagore’s essay “Prarthana’.

TR FIFCEE TCo SR AL &Nt F 9 T (rfEres ©iF W Aol S
20 TS 7N 9 — INHIA SFER 2N efqeh STepraice! T FE |

Explain the concept of Brahma-vihara following Rabindranath Tagore’s essay
“Utsaver Din”.

AN IFER TR e @l Seprael I FARRIE 4N i<t e
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1.

(Practical and Environmental Ethics / T32ifs@ @3z #ifsca=t fifefamw)

Answer Question No. 1 and any two from the rest within 600 words each
S W & 8 WA (F-CHICA! 76 &Ated Ted @ifefb oo *(tara W e

Answer any four questions from the following within 150 words each: 5%x4
e @-IE 51afF 20sw e 2ol seo =it Sty whae
(@) What are the arguments against suicide?

SRy [ Yfeel 1 9

(b) “No one is born a woman, she becomes a woman” — Explain the significance
of the statement.

S A 2 TR AL, AR 2 S0 SfEa Sl i T

(c) What is meant by Human Rights? What are the distinctive features of Human
Rights?

TR IS I @RIT 2 WifEFicaa i S st

(d) What is meant by Gender discrimination? Does our modern society upheld
gender discrimination?

oo () TET00 S @RI 2 TS A 6 fort (TAageres 2
(e) What are the marks of ‘Just war’?
TRYCEA STl F 9
(F) What is ecology?
A FREZ FICP T 2
(g) What are the roles of environment and heredity in gender discrimination?
oot (TRCR (e~ 8 Risifost wfsiel 5 9
(h) Give arguments in support of the conservation of nature.
2FOCT T T 710 Y& mis |
(i) Do you think we should have reverence for life and plant?
211 ¢ Bfgrra 2ife & esticns Gliesy Al Tfvw ¢

(J) Do you support the principle of reservation as a means to compensate
discrimination in society?

gfSr & TCera (R efSRuitTa ooy kawe Mo s I 9

What is euthanasia? Is euthanasia morally justified?
TN o7 I 9 TN o7t I (e e (A w9

What do you mean by Feminism? Distinguish between Liberal Feminism and
Radical Feminism.

A F00 T QIR 2 T2 8 HANL AW 2ATSv KIS FEE

What is racial discrimination? Discuss the arguments presented by Peter Singer
against racial discrimination.

Gifosts (73] FeT0e & @I ¢ wifoare (aaes Keeca (o eeices Iferafer siepa

RE&IN
10
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5. What do you mean by terrorism? Is terrorism ethically permissible? 4+11
TR IO F QRN 9 FFPRIW | (0PI AILTT 9

GROUP-B
(Full Marks-50)
fretat-2
(==-eo)

1. Write an essay on any one of the following topics of Indian Philosophy: 25x1 =25
(Within 1500 to 2000 words)

oiRoR witad fafeie Ranelem g -l @3B R 97 ek @l
(5&o0 (ATF K000 *THA WH))
(@) General Features of Indian Philosophy

SO e YiRe 3T

(b) Brahma in Advaita Vedanta Philosophy
LA (NI TG

(c) The concept of ‘Moksa’ in Indian Philosophy
SRS WA (T Qigell

(d) The concept of Purusa and Prakriti in Sankhya Philosophy.
AR 5777 @ &S ©g |

2. Write an essay on any one of the following topics of Western Philosophy: 25x1 =25
(Within 1500 to 2000 words):

o) Wi fsfeiRe Rerelem g @ @it 9=t [Raem S s et
(@00 (ATF Y000 *[HF TH))

(@) Rationalist view on the concept of substance
TR T A Jfadiicns o

(b) Plato’s Theory of Knowledge
(2B @ITog

(c) Different types of Realism in Western Philosophy
ATyt Rfen eiwim T@am

(d) ‘Copernican revolution’ after Kant.
IR “FARITRE {2 |
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